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405 KHHE SH| 589,232 742,784 A 153,552
01 ML SEFHSHI 589,232 742,784 A153,552
T AREAAAE ZH| Wi 66,420
—dHBA BE 13,280,000 3 44! 53,120
—NIEA 2oldA 133,000 1002 13,300
OX Lk B WRAEZEX & 13,570
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FA: BIRASAI
By 2EEYS 24
¢ 23 29 EER=E)
2 - e
SA - B GR(31) - HIRAY - BES e 2
—UHREBZEI(AHAZEZN)
23,0002 *590H 13,570
Ok= st ZHl wH 89,242
—=& 2FLYE FH|
13,000,000& *1CH 13,000
—SHAZ=ANEH, TA2 & AIHAE
&l 4,600,0002 *15CH 69,000
—i=EZEE Fhl 2,328,000 *1CH 2,328
—SFoI0IAESIE HH|
1,638,000 *3CH 4,914
OZHIOIXl JHeIZE & AHEH +L
20,000,000 * 14! 20,000
O#HMAEH F 400,000
— AR E PC(2H)
1,200,000 =280CH 336,000
—#HHARE PC(Z2LIE)
250,000 *120CH 30,000
—EWI2IEH (A0, A3)
1,000,000 *31CH 31,000
—ZHZE (0N, A3)
3,000,000 *1CH 3,000
HHY2AZH(DIRISAIL) 88,242 236,467
JI2ZEI(2I2SAIL) 88,242 110,714
JI2ZHI(2IAS A 88,242 110,714
201 ZEt2 & 39,762
01 AtR2telt] 39,212
Oget===H| 12,255
—2AII2 MRESHI
5,000 x26 2 * 122 *90% 1,404
—SALEX 1,404
- M 20,0002 262 #3824 A x90% 1,404
—mA 1. Y
170, 0002 *3CH* 12| *90% 459
—dioldEele EY
191, 2502 »8CH 43| *90% 5,508
—ZHIZEH EY
200,000 x4Z+1CH*23]*90% 1,440
—=SAMI EYH 55,000 *2CH 33 *90% 297
—=SAI E™ 200, 000 *2CH* 13| *90% 360
—2R=EZ 756
- S 20,0003 x2E 123 *90% 432
- XX 15,0002 *2E* 122 *90% 324
—Qld E=J] EH uw
18,0002 * 1CH* 122 *90% 195
—QIRA )| eX=
40,0002 *1CH* 122 *90% 432
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SN oI AL
M HAPAZH|(SASAID)
S2l: JI1=2ZHI(2UAZS AL (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEETI 26,957
—2AII2YR S20H4lL|
8,000& x26E 12 123 x90% 26,957
02 S3=gHl 550 550 0
OAIE2EbBI= X 550
—= A 200,000 =2CH 400
—mHA 50,000 *3CH 150
202 04t 43,680 61,152 A7,472
01 =LHOHI 43,680 61,152 AT7,472
OoZU2g: =& ol
20,0003 x26 2 142 %123 +50% 43,680
203 =] 4,800 4,800
M FA2ELRFAI 4,800 4,800
ORNSgERF=AHI 400,000 123 4,800
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